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Figure 1: Walking path.
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Figure 2: Paths with lengths n=1,2,3,4,5.
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Figure 3: In Figure 2, the numbers are the decimal equivalents of the binary
numbers obtained by writing 1 instead of x and 0 instead of y. The n-th term
of the sequence a(n) is the sum of the numbers in the n-th row in the figure.
For example, a(3) =7 + 5 = 12.

a(6) = 131439+ Fs25~1
= 131439+ (8)2°! =426

a(7) = 1314426+ F27 !
= 1314426+ (13)27! = 1389

a(8) = 426+ 1389+ Fg2%~!
= 426 + 1389 + (21)2°~! = 4503

a(9) = 138944503 + Fy2°~!
= 1389 + 4503 + (34) 277! = 14596

a(10) = 4503 + 14596 + F12'!
= 4503 + 14596 + (55) 2'971 = 47259

a(11) = 14596 + 47259 4 Fy 211
= 14596 + 47259 + (89) 2171 = 152991

a(n)=a(m—1)+a(n—2)+F(n)2"!



da(n—2)=4a(n—3)+4a(n—4)+F(n—2)2"1!
an)=a(n—1)+a(n—2)+(F(n—1)+F(n-2)2"!
2a(n—1)=2a(n—2)+2a(n—3)+F(n-1)2""1

a(n)—2a(n—-1)—4a(n—-2) = an—-1)4+a(n—-2)—2a(n—2)—2a(n—3)—4a(n—3)—4a(n—4)
a(n) = 3a(n—1)+3a(n—2)—6a(n—3)—4a(n—4)



